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INSTRUCTIONS:

- This paper has TWO sections: A and B.

SECTION A: Attempt ALL questions.

SECTION B: Attempt any THREE questions.

- You may use mathematical instruments and calculators

where rrecessary.

- USE A BLUE INK PEN ONLY

USE A PENCIL TO DRAW DIAGRAMS.

- SHOW CLEARLY ALL THE WORKING. Matks sill not be awarded

for answers without all working steps.
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01.
SECTION A : Attempt all questions. (55 marksf
Express 900 as a product of its prime factors. Hence find the
squa-re root of 900.
(a) Calculate without using a calculator: 3.452 - 1.552.
(b) Divide without using a calculator: O.O9 + 30.

In a school food store, there is enough food to feed 3OO

students for 17 days.
For how long will the food last if 40 more students join the
group?
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Find the area of the
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05.

Solve the equation: Sxz + 2lx- 20 =
The right triangles below are similar.
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larger triangle.

3cm

Solve simultaneously: x+2y=40
3x= 60-y

Find the equation of the line which passes through the
pointq (- 1, 3) and (4,21.

As)
Given that f(x) = axl - 7 and f(21 = 13, find the value of f(- 1).

In a class of 4O students, 24like Mathematics and 3O like
Kinyarwanda. A11 students like at least one of the,,.subjects.

Draw a Venn diagram to represent this information.
How many students like both Mathematics and
Kinyarwanda?

Solvetheinequality: * = i - 10.-24
Illustrate the answer on a number line.
A point m divides a line segment AB, 10 cm long into two
parts such that one part is 4cm longer than the other.
Find the length of the two parts.

(4

(4
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t2. The diagrams below show a flag T and two
mzintersecting at an angle F.
Copy the diagram and show images MllTl
MzMr(T| in mz
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14.

15.

16.

t7.

Find the mid-pointM of the line joining the points A{1, Ol
(4 marks)and B (9, 6). Find lengthMB .

The diagram below shows a rectangle MNOP of length 88cm
and width 30cm.

88cm N

3Ocm

o
If it is curved in such a way that MP and NO meet to form a
hollow cylindrical figure, find the volume of the cylindrical

figure formed. n =! .
7

SECTION B: Attempt ONLY three questions. (45 tnorks)

(a) Solveforx:"1 -+ ,-f ^* 
1^=o

x'-l x'-4x+3 x-3
(b) Factorize completely: f(x) = 2x3 + 5x2 + x - 2.

Hence find the values of x when f(x) = 0.

The table below shows the ages of 73 students.

(4 marks)

(8 narks)

(7 norks)

Age in years l4 t5 t6 L7 18 19 20

Frequency 5 9 13 11 t2 15 8

Make frequency table using above data.

M

(a) Find the median age.

(b) Calculate the mean age.

18. Use the diagram to answer (a)

(ii) a - 1800 rotation about origin.

t-
(a) Copy the diagram and sketch the image l- under

(i) a + 90o rotation about origin. I

(4 narks)

(77 narks)

(3 narks)
(2 rurks)

. r 'l-9'/l\6,a

(b) Copy the diagram again and
under a translation

sketch the image 
"f I

I
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(-z\
(Ur=[r ) Pnartcs)

(ii) r=[l) - 
Fnartc.s)

(c) Copy the diagram and sketch the image of triangle under
enlargement with scale factor 2.

19. The figure below is a right pezoidal prism.

20.

Calculate its
(a) lateral a-rea.

(b)total surface a.rea.

(c) volume.

(5 rior:lcsl

(7 norlcs)

(3 noirlcs)

-\f4 marlcs)

ft mqlcs)

@ no,flcs)

norlc"s)

J-z

2J5 + 
^13
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(a) Rationalise the denominator:

(b) Simpliff: Jrz " 3.Go "J+s .

(c) Simpliff: Js " Jso * rA21 .

(d) siinpriff: #"# z {o N

t2cm

6cm
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